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: (1) Question No 1 is Compulsory :

(2) Attempt any three questions out of the remammg five.
(3) All questions carry equal marks.

(4) Assumc suitable data, if reqmred and state it clearly

Q1. All the questions are Qompulsory*.

~ a. Find the value of V, - | S - . (5
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b. The reduccd incidence matrix of a an onented graph is glven below Find the posmble
number of trees. o : ‘ . (5)
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d. ‘Find Z parametcrs for the followmg two port net\mrk ' ‘ (5
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_.Ql. Solvethe foﬂawmg
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T ,;Fmd the value of maximum power ﬂ'&nfs&med tqz&e load of lQ
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b. Write incidence natrix, tieset matrix and cutset matrix
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b Fmd h pammetets for the followmg network State whether given network is

eondmon havmg reached before sw;tchmg Fmd the values of i
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Q4. Solve the foilowino

a. Steady state 1s reached with the switch clov.ed The swntch is opened at t=0. Obtam
~ expressmns for i () Obtam the expnesswn e o (10)

b. Find the voltage Vy using superposition theorem ~— (10)
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. {':‘- Q5. Solve thc follovvmg

- a. Fmdtherammetersforthcnctworkshown ' “ - (10)
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b A dnving~pomt tmpedanoe Z(s) for the network is @ shown. Cak:ulate the values of the !
parameters R, 1., G and C if Z(j0) = 1. The poles gre located at -3:1:13 and zero at -2 W
(10) o

Q6 Solve the follcwmg N R

a. Find thc current I usmg supermesh thcorem cE e (10 "
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b For the network shown determme z1l (S)a G12(3) anle2 (S)'j*”:;' N (10) -
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